Welfare Benefits and Benefit Reduction Rates

= \\elfare at 100% Benefit Reduction Rate
= \\elfare at 50% Benefit Reduction Rate
Welfare at 25% Benefit Reduction Rate
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Aggregate Welfare Benefits
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The Income Effect of Welfare
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= \\elfare at 50% Benefit Reduction Rate

—\Nelfare at 50% Benefit Reduction Rate



Total Annual Means-tested Benefits
Single Mother with Two School Age Children
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Total Annual Income: Post-tax Earnings Plus Total Means-tested Benefits
Single Mother with Two School Age Children

Total Income
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